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1.9 26381 & forw s omEs
FH-H § 7
() 29, 17, 37
(b) 31, 17, 47
(c) 19, 37, 13
(d) 23, 31, 37

2. freafafem # <9-a1 sgwe
x-D(x-2)x-4)-90 & UGS
g 7?

(@) x+14

(b) x-14
(c) x-6

d x-7

3. 23-4415 1 Fige TR ?
(a) V6-32
-35
v &
(c) V3-245 &
(d 5-443 ,&\@

Q
437903 9 ¥ fafiom A
6 T B D

(a) 1
() 3
(c). 7
d 9

5. 3 WA % LCM 3R HCF &1 a1 el
536 & 3R 7% LCM 3R HCF & =
F IR 296 ® | Al I ¥ & e
104 2, A qEdt e w4 @ ?

(a) 420 '
(b) 480
(c) 484
(d) 506

NYRG-T-MTK - A

6. 20 =ferat &t 10 feAt # v wm # g1

A ¢ |5 A wm o F oA, =
Iew™ B § T Faa uw-a wm
B T R | T W W W
A & fou 5% 3k T aafesat
AraFHar gt ?

(a) 40

(b) 30
(c) 20

(d) 15

. A x T FonewE aretas g g, 9t

frfofaa 3 @3 wd 7 & 2
1. & o9 quiies AV R 6 kx> 0@
2. BN 2 +x> 0%

(W2 <x<=x
4, X2 TR TS 9T HE B

¥ fiu ¢ &1 W@ W @ S
Tf :

(a) 1,233
(b) 1,234
(c) 1,334
(d) 2,334

. 232 +xy— 32 & Wasw G

(x 3R y &) =1 FnTHer 74T @ ?

(@ 2x-3y

(b) 3x—2y

() 3x+2y :
(d 2x+3y ;

b § e e

AT qoT TEF © 7
(@) 222 +16x+3=0
(b) 22 +10x-1=0
(c) x2-8+1=0

(d 42 +9x+6=0
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1‘

2.

5.

. What is the remai

What are distinct prime factors of the
number 26381 ?

(a) 29, 17, 37
(b) 31, 17, 47
() 19, 37, 13
@ 23, 31, 37

Which one of the following is a factor
of the polynomial
x-1)Ex-2)(x—-4)-90?

(a) x+14
(b) x-14
(c) x-6
(d x-7

. What is the square root of 23—4+/15 ?

(a) J6-342
®) 7-345
(©) V3-245
@ V5-43

S
g\
®

Q‘Zr
after dividing

the number 37'%%° by 97

(@ 1

(®) 3

(e 7

d 9

The sum of LCM and HCF of two
numbers is 536 and the difference
between LCM and HCF is 296. If one
of the numbers is 104, then what is the
other number ?

(a) 420
(b) 480
(c) 484
(d) 506

6. 20 men are supposed to complete

a work in 10 days. After working
for 5 days, they realise that only
one-fourth of the work is done. How
many more men they need to employ
to finish the work on time ?

(a) 40
(b) 30
(c) 20
(d) 15

. If x is a negative real number, then

which of the ~following are not
correct 7

1. There is some natural number k
such that kx>0

2.52 x>0 always
3. 2x<x<-—x
4. x2 is always a rational number

Select the correct answer using the
code given below :

(@) 1, 2 and 3
(b) 1, 2 and 4
(¢) 1,3 and 4
(d 2, 3 and 4

. What is the sum of the linear factors

(in x and y) of the expression
2x2 + xy—3y2?

(@) 2x-3y

(b) 3x-2y

(c) 3x+2y

(d 2x+3y

. Which one of the following equations

does mot have real roots ?
(@) 22 +16x+3=0

() 222 +10x-1=0

() ¥ -8+1=0

(d) 4x* +9x+6=0

A - NYRG-T-MTK
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10. T feama wfiewor & geit & Aree ok
TS A 7 SR 12 ¥ | AR geq
T W S AR Y G R WA W
fear s, Y aftomdt e g =0
g7
(@ ¥ -6x+12=0
(b) x2 -8 +12=0
() 2 +8x+12=0
(d x2-10x+12=0

1.k & M w@l § foo, wfewo
X2 —kx+2=0 % Irafys iR B g
g7
(@) -2V2<k<2+2
(b) k<-2+2 Fa=
(€) k>22 Fa=

(d) k<-242 or k>2
QO
12. 3fe a+ﬁ+y=a@y+m g
(1-a)(1-B)(1-%) frad ameax & 7
(@) 1-afy
(®) 1+apy
(c) a2+ﬁ2+y2

@ (@-BB-7)y-a)

&

13.3f log10x+logwx2 =2log;gx+1 R
WA xHT AT TR ?

(@ 1
(b) 2
(©) 5
(d 10

NYRG-T-MTK - A
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14. 3 J9TST wE@msit p dR ¢ FLCM
2231 %, Rip>q &1 p-g & AW
TR ?

(a) 67

() 70
(c) 74

(d) 81
15. f17 4% T gEIHR 99 W 92 @ §,
IR I TH FFER HAA: 20, 30 3K 35
fmd # @ wd ¥ yew fig w3
T 3Rl AR T et ?
(a) 39230 fFe® ar
(b) 492 30 fire & =g
(c) 39 & aR
(@ 792 %F arg
16. 5 3@, 6 Fegs 3R 7 Rewd A Fwa
250 77 ; v 6 e, 4 Areaw
3R 2 R A fwa 180 wU |
2 Aegw AR 4 ORI 6t Fova w0 ?
(a) ¥90
(b) T75
(c) %60
(d) %40
17. UA%A  190x249x 348 x  x 501 %
foram s € 7
(@) 262
(b) 261
(c) 246
(d) 235
18. afe wftaor x2 - 60x + 899 =0 F 7
p IR g (p>gq) & @ fuafefea
FA-q1 TR § ?
(@ p-g-1=0
(b) p—2¢g+27=0
(c) 2p-g-30=0
(d) 3p-29-43=0
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10. The sum and the product of the roots
of a quadratic equation are 7 and 12
respectively. If the bigger root is
halved and the smaller root is doubled,
then what is the resulting quadratic
equation ?

(@ x*-6x+12=0
(b) x> -8+12=0
() x2+8x+12=0
(d) x2-10x+12=0
11. For which values of k&, does the

equation x%—kx+ 2 =0 have real and
distinct solutions ?

(@) -2\2<k<2\2
(b) k<-2+/2 only
() k>2+/2 only

(d k<-2+2 or k>2«%‘(®®
»

12.ffa+B+y=af + ya, then what
is (1-a)(1- 5)&@%) equal to?

(@ 1-apy
(b) 1+apfy
() a®+p*+y?
@) (x-BYB-yNy-@)
13. If log;ox +logjox” =2log;ox +1,
then what is the value of x ?
(@ 1
(b) 2

() §
(d 10

14.

15.

16.

17.

18.

The LCM of two prime numbers p
and g is 2231, where p > ¢q. What is
the value of p—¢g ?

(a) 67

(b) 70

(c) 74

(d) 81

Three runners are running in a circular
track, and they complete one round in
20, 30 and 35 minutes respectively.
When will they next meet at the
starting point ?

(a) After 3 hour 30 minutes

(b) After 4 hour 30 minutes

(c) After 3 hours

(d) After 7 hours

5 pencils, 6 notebooks and 7 erasers
cost ¥250; whereas 6 pencils, 4 note-
books and 2 erasers cost ¥180. What
is the cost of 2 notebooks and 4
erasers ?

(a) ¥90

(b) ¥75

(c) %60

(d) <40

How many zeros are there in the
product 150x 249 x 348 x _ x 50! 2
(a) 262

(b) 261

(c) 246

(d) 235

If p and q (p> ¢q) are the roots of
the equation x2—60x + 899 =0, then
which one of the following is correct ?
@@ p-g-1=0

(b) p-2¢+27=0

(c) 2p—-¢-30=0

d 3p-2¢g-43=0
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19. afe T x2 — 4x — log; QN =0%F T
aafas €, @ N F gAaH qH .0
R7?

(a) 01

(b) 0-01
(c) 0-001

(d) 0-0001

20. afe 5%-1=(2:5)08,0° ®, @ x & "W
R ?
(@ 1
(b) log;2
(c) logyo5
(d) 2logyoS

21,3 96-64a> + -2 -P=0 & A
a a

a*t + 4a> Torass SR © ?
(a) 0

(b) 1 Q
(c) 2 S

@ 3

22. qfe 4+B=2%

x+2

2
A_B=L2x+4 '%, o B feas

x+2
WE § 7
e |
x* +4x+4
x% -4
x* —4x+4
2x2 ~7x+3
2x-1
2x2 +7x-3
2x-1

(a)

(b)

(c)

@

NYRG-T-MTK - A

23.

24.

25.

26.

x4 y4

PP PN —2)
4
% forea s 22
(Z-x*)-y?) ;
(a) -1
() 0
(c) 1
@ x*+y*+7*
A (2ab-b?): (642~ ab)=1:6%, A
(a+b):(a—b)'ﬁﬂlaim‘§ ?
(a) &ad 3
(b) &a 5
(c) —3913
@ =535

R = =¥ % -

b+c-a b-c—-a a+b-c
2, A K24+ yP+2?
foraes s B ?
(@) kK (@®+b*+c?)
() k*(a*-b*+c?)
(c) kK*(a+b+c)?
(d) k*(a-b+c)?

—2xy—2yz+2zx

gfe @9 gaTHs §@AT 2:3:5 &
Fua # € 3R IAH F w AEA
1368 ®, @ I GEATS W ANTHA FT
g7

(a) 30

(b) 45

(c) 60

@ 75
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19. If the roots of the equation 23. What is
x2—4x-10g10N=0

are real, then what is the minimum % + J’4 +
value of N? -y )x2-22) P-xH)*-22)
(a) 01 z*
ual to ?

R @—DE)
(c) 0-001
(d) 0-0001 @ -1

R : (b) 0

20. If 5%1=(2-5)!9810°, then what is the

value of x? () 1
(@) 1 @ x*+y*+2°
(b) log;o2
(©) logyo5 24. If (2ab-b?):(6a’>~ab)=1:6, then

(d) 2logyo5 what is (@ +b): (a—b) equal to?
10

(a) 3 only
2.1 96-64a> +——25—1=0, then ®)"'5 only
a’.a
what is @t +4a> equal to? Qoo 2
@ 0 (d -Sor5
G \\Q® 5. 0f ——=—2 —=—=§,
(¢) 2 N b+c-a b-c-a a+b-c
@ 3 (§) then what is
$Q\Q x4y +2%—2xy-2yz+2zx equal to?
- 3
22. IfA+B=x?-l_—2&nd (@) k2(a®+b*+c?)
4o X +25%4  then what is B ) K (a®-b>+c)
262N
Sk hed (¢) k*(a+b+c)?
B ) k*(a-b+c)?
(g) = .
X" +4x+4 26. If three positive numbers are in the
o7 =il ratio 2:3:5 and the sum of their
(b) S squares is 1368, then what is sum of
x"—4x+ the numbers ?
© 2x2-Tx+3 (a) 30
2x-1 (b) 45
@ 2x% +7x-3 (c) 60
2x-1 (d 75
7 A — NYRG-T-MTK
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28.

29.

2 2
l.a—b a-b __.
e ol
5 >+ a?+p? .
a’+b%?  a+b Wﬁ'a):b>0
9 ¥ & -a /-y w2/
(a) &aa 1
(b) &ad 2
(c) 1323t
(d TA1L,TE2
am e Gn-1) =fEE e
(2n+1) fAt # frn mar =rf x @ sk

(Bn+1) =afmEt gRI (4n-3) RAE &
%mwmy%mﬁx:Fs:n%,
AnHAA TR ?
(@ 6
®) 7

(c) 8 %
@ 9 NS

R ay—bngﬁtbz—cy i
a

(&
feff # -w/ea @

&
Q
%g\

(a) *ae 1
(b) Fae 2
(c) 132zt
(d FAd1L,T82
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30. & =Afth 375 m? AMAER S0 %

31,

32,

33.

FRI 3R =1 TN ATl € | I o
65 m T AR § AR 98 Y F Faq
q AR B A W urr € | S
qiTy =1 § 7

(a) 80m

(b) 84 m

(c) 90m

(d) 100m

S R0 ax’ - dax +15= 0 F ¥t
CRCECER M K e ok
e ?

@ >

17

2

19

2

21

(d) T

T fo-sid den w ver @ 5 9e%

3t 1 UAEA 8 R | Al 3w de ¥ 63

ST WY, AT 3l H TH WER el

;rm%lwmﬁsiﬁwﬁmw
7

(a) 6

(b) 7

(c) 8

(d) 9

R s % w A e B =W

30 km/hr | 9% 60 km &RT it Ry &

St ® ok 2wl % amgw et € | awr

it = (wfie) =R 2

(@) 5 km/hr

(b) 8 km/hr

(c) 10 km/hr

(d) 12 km/hr

(b)

(c)
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27.

28.

29.

Consider the following inequalities :

Piad
1L 5 b2>
a“+b

a-b
a+b

wherea>b> 0

a2+1‘;v2
a+b

a*+b°
2. e
a“+b

only when
a>b>0

Which of the above is/are correct ?
(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Let work done by (3n—1) men in
(2n + 1) days be x and work done by
(3n+ 1) men in (4n—3) days be y. If
x:y=6:11, then what is the value of
n?

(@) 6 &
(b) 7 §<®
(c) 8 (§:
@ 9 $®Q
Q
I ay—bx= —azzbz—cy o
c b & 1

which of the following is/are correct ?

2 x+yt+z z

a+b+c ¢

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

30.

31.

32.

33.

A person wishes to fence 375m?
rectangular garden. He has 65 m of
barbed wire and is able to fence only
three sides of the garden. What is the
perimeter of the garden ?

(a) 80m

(b) 84m

(c) 90m

(d) 100m

If one of the roots of the equation
ax’-4ax+15=0 is 3, then what is
the sum of the squares of the roots ?
15

2

1%

2

19

2

21

2

A two-digit number is such that the
product of the digits is 8. If 63 is added
to this number, the digits interchange
their places. What is the sum of the
digits in the number ?

(a) 6

(®) 7

(c) 8

(d 9

A motor boat has speed 30 km/hr in
still water. It goes 60 km down stream

and comes back in % hours. What is
the speed of the stream ?

(@) 5 km/hr
(b) 8 km/hr
(¢) 10 km/hr
(d) 12 km/hr

(a)

(b)

(©

()
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34. @& fyar &t adwm g SeF IR F=t

35,

36.

37.

#I A1 & ANTH & IR 8 | 106 F
oG, FeAl H AY H AE, Trar f
g H 1-6 AT BRI | far it adwm
G R ?
(a) 3699
(b) 40ad
(c) 4294
(d) 45a%

& e & 3w 3R W = A 102 |
MWamAITg R o sk w & &
1 0 o= fear s, & B 1 59 S
? | o & siw sk w3 fram s R 2

@) 2
() 3
(© 4
@ 5

-~
afy e fem 7x&®=z7 ik
kx+7y=19 & g
et 3 @z 8 ¢
(@) k=7 §
(b) k+13
() k=7
(d) k=13
aiffs &1 ¥ wW@ifa 29 arht 518
oI 5 aut % & S B o B |

feam asf # aw swifr <shpht @
STEET ?

(a) 109

(b) 129¢

(c) 15a¥

(d) 2094

NYRG-T-MTK - A
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38.

39.

40.

41.

3R 4= & +fiw, e N gd ok fme
&1 gf, qFi 3 a9 faw fret & <=
HATH B (T qE B T o) ?

(a) 15-16 firme

(b) 16-17 e

(c) 17-18 e

(d) 18-19 fime

e o g 2 oAl # R a2,
St Wi e ge 1 At 3§ R vt
® 1 3A @1 30 @ R F fraw Re
A ?

(a) 32T

(b). 33 &7

(c) 35fm

(@ 40fe

afg2x—3y-7=0%, @

8x” —36xy + 54xy* — 27y — 340 &1
HE FT R ?

(a) -1

(b) 0

(c) 1

@ 3

afe p, g F FTFAIR B IR F
& goAat 8, @ ¢ # 20% g
B 3R r 7 20% B BN F R p |
foraw wfoera 3fy &rfr 2

(@) 87-5%

(b) 85%

) 82:5%

d) 80%
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34.

35.

36.

37

The present age of a father is equal to
sum of the ages of his 4 children. After
ten years the sum of the ages of the
children will be 1-6 times the age of
their father. What is the present age of
father ?

(a) 36 years

(b) 40 years

(c) 42 years

(d) 45 years

The sum of numerator and denominator
of a fraction is 10. If the numerator
is increased by 3 and denominator is
decreased by 1, the fraction becomes 1.
What is the difference between numera-
tor and denominator of the fraction ?

(a) 2
(b) 3
(c) 4

d
@ 5 @&Q

If the system of equatio % +ky =27
and kx + 7y =19 ha ique solution,
then which one e following is

correct ? @
(@) k=7
(b) k=13
) k=7
d) k=13

A sum of money compounded annually
doubles itself in 5 years. In how many
years will it become four times of
itself ?

(a) 10 years

(b) 12 years

(c) 15 years

(d) 20 years

11

38.

39.

40.

41.

Between 3 and 4 O’clock, both hour
hand and minute hand will coincide
past 3 O’clock between

(a) 15-16 minutes
(b) 16-17 minutes
(¢c) 17-18 minutes
(d) 18-19 minutes

Sheela can stitch a suit in 2 days, while
Meena can stitch a_suit.in 11 days.

How many days. will both take in
stitching 30 suits ?

(a) 32 days

(b) 33 days

(c). 35 days

(d) 40 days

If 2x-3y-7=0,

then what is the value of

8x> —36x2y+54xy? —27y% -340?

(a) -1

®) 0

(c) 1

(d 3

If p varies directly as g and inversely
as square of r, what is the percentage

increase in p due to an increase in ¢
by 20% and a decrease in r by 20% ?

(a) 87-5%
(b) 85%
() 82:5%
(d) 80%

A — NYRG-T-MTK
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42.

43.

44.

45.

NYRG-T-MTK

T Afth 30 W& W 30 o7 ¥ fom wm
A W Fead orar ¢ 5 wflm em
FA F forw I/ 500 79U felt 3k vw
FIIfIa @A 9w A & frg 100 Tow
1 @t fit @ | I sE@fy Hi
FHIfY TR I/ 11,400 TIT 916 T | I
ferem fom = fomr 2

(a) 20

(b) 21

(c) 24

d 25

T Afch = T g1 3R T A 75079
# @l | IE g B 5% AW W) AR
AR W 20% W R 39 o7 | ¥ g
16% W1 &9 T | A R YA ARG
w1 ot ?
(a) 400
(b) 450

(©) %550
@ %600 \Q®

Us ofh A amﬁum
fezar 60 km/hr H %
50hmhreﬁrwﬂg&§1u4ommﬂ
w1 & 77 far |G Ta ks S am
e feddT 60 km/hr Y e @ 3R A
40 km/hr Ft 919 A J9 & Bar, @
I8 W A F T HA | 4 fre siftrs
wd | =fen ¥ forelt ot @ o 2

(a) 180 km

(b) 210 km

(c) 240 km

(d) 300 km

T wfh frea af 6 gemr #1000
WU s i owa a=ar € | Al san
999 9§ # 2000 &9 K F9q HI, ar
forae =t § € 170000 T9€ A s9a W
o ?

-A
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46.

47.

48.

49.

(a) 1699

(b) 17a¢

(c) 18ad

(d) 193%

cos’0+sec’0 & TAqH WH T R,
Rl 0°<6<90° ¥ ?

(@ 0

(b) 1

(c) 2

(d) S9Ee § A FE 7E

afe 14 sin20+ 10 cos20=11 B, @i

0°< 0<90° &, & tanO+ cot & HH
e ?

(@)

(b)

(©)
@

sin>0 +cos>0 F- sin’0 - cos@

sin@+cos@  sinf-cosf

forereh TR R 7

(a O

() 1

(© 2

d 4

S e
b} 10 m Th GED

2 9 ¥ uE q, tasz?% ai??i

gﬂtﬁ 60° 8 | taoige dY Jurg faraht
?

(a 12m

(b) 15m

(c) 16m

(d 20m

4
5

2
3
V3
243
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42.

43.

45.

A person agrees to work for 30 days,
on a condition that for every day’s

work he should receive ¥ 500, and that
for every day’s absence from work he
should forfeit ¥100. At the end of the
time he received ¥11,400. How many
days did he work ?

(a) 20

(b) 21
(c) 24
d 25

A person bought a chair and a table
for ¥750. He sold the chair at a gain
of 5% and the table at a gain of 20%.
He gained 16% on the whole. What is
original cost of table ?

(a) <400
(b) <450
(c) ¥550
S
(d) <600 g\
&
. A person rode one of a journey
at 60 km/hr, one- at 50 km/hr and
the rest at 40 . Had the person

ridden half of the journey at 60 km/hr
and the rest at 40 km/hr, he would have
taken 4 minutes longer to complete the
journey. What distance did the person
ride ?

(a) 180 km

(b) 210 km

(c) 240 km

(d) 300 km

A person saves ¥ 1000 more than he
did the previous year. If he saves
2000 in the first year, in how many
years will he save ¥170000 ?

13

46.

47.

48.

49.

(a) 16 years
(b) 17 years
(c) 18 years
(d) 19 years

What is the 'minimum value of
cos- 0 +sec’0 where 0°<6<90° ?

(@ 0
(b) 1
(c) 2
(d) None of the above

If 14 sin20+ 10 cos?0=11
where 0° < 6<90°,
then what is the value of tan@+ cotf ?

(a)

(b)

s Bl

(©)

@ 243

What i sin@ +cos>0
sin@ + cos@

equal to?

(@ 0

(b) 1

() 2

d) 4

sin>0—cos>0

sin@ —cos@

A ladder 10 m long reaches a point
10m below the top of a vertical
flagstaff. From foot of the ladder, the
elevation of top of the flagstaff is 60°.
What is the height of flagstaff ?

(@ 12m
(b) 1I5m
(©) 16m
(d 20m

A - NYRG-T-MTK
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50. 1+2sin%0 cos?0—sin* 0 —cos* 0 &1

1.

52.

53.

it wH T 8, SRl 0°< 6< 90°
g7

(@ 1

(b) 2

(©) 3

d) 4

foret 71t & FW 1200 m A FAE ®|
Sea U foreft fommr @ 7 S o @ 6
T F qE Rt W wegE foget &
FaTHT &I 30° 3R 0 ® | IR & Hr
s 3000m ®, o Fe=afafea § @
H-|1 el § ?
(a) 6<30°
(b) 30°< < 45°
(c) 45°<0<60°
(d) 60°< 0<90°
cos’0—3cos0+2 ®
ar sin’0 éé\%
0° <6< 90°%?hsx@+cose%ﬂaa
WL 8 ? @

(a)
(b)

(©)
(d
frrfofan w fmw $ifs .

1. sin*@—sin%0 = cos*@ - cos?0

N Al NwWw K|lwn

2. sin*@+cos*0=1+25sin%0 cos’6

3. tan*@+ tan®0 = sec* @ — sec20

NYRG-T-MTK - A
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55.

56.

57,

S # -H wdafied € ?
(a) Faat 1 3R 2

(b) &g« 23R 3

(c) Faa 133

(d) 1,23R3

. 8in24°sin 66° — c0s24° cos66° +

tan 24° tan 66° — cot 24° cot 66°

&AW TR ?

(@ 0

(®) 1

(© 2

(d 3

gfe x=psindcosB, y= psinA4 sinB
AR z=pcosd B, A 2+)2+2 &
HIA T8 ?

(2). —p?

() 0

(© P

@ 2

gfe x=msecA+ntand ® 3R
y=mtanA+nsecA%,?ﬁ
x2—y? forad SR & ?

G s .

b} -t

(c)
(d)
afe 0° 3R 90° & 9 R et 0 %

ﬁ‘-lQ tan@=1 %, Al sin20— 2sinf cosO
HHA M E ?

(a) -1
() 0

© %
@ -3

m2+n2—mn

m?—n?+mn
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50. What is the maximum value of

1425sin%0 cos*@ —sin*@—-cos*0

where 0°< 6<90°?
(@ 1
(®) 2
(© 3
(d) 4

51. From an aeroplane flying above a river
at an altitude of 1200 m, it is observed
that the angles of depression of
opposite points on the two banks of a
river are 30° and 6. If the width of the
river is 3000 m, then which one of the

_following is correct ?
‘ (a) 6<30°
(b) 30° < O<45°
(c) 45°<6<60°
(d) 60°<6<90°

N
\Q
52 If cos>0—3cosf+2 gg\
~ sin®6
where 0° <0< 90@&1 what is
sin?0 + cosf
5
(a) 2
3
(b) 2
2 7
i3 _(°) 4
(@) 2

53. Consider the following :
1. sin*@—sin%0 = cos*0—cos?0
2. sin*@+cos*@=1+ 2sin’0 cos*6

3. tan?0+tan?0 = sec* 0 - sec?6

Which of the above are identities ?
(@ 1 and 2 only
(b) 2 and 3 only
(¢) 1 and 3 only
(d 1,2 and 3
54. What is the value of
sin 24°sin 66° — c0s24° cos66° +
tan24° tan 66° — cot 24° cot 66° ?
(@ o
(®) 1
(© 2
(d 3

55. If x= psin AcosB, y = psin 4 sin B
and z'= pcos 4, then what is the value

of x2+y2+22?
(a) —p?
() 0
© P
d) 27
56. If x=msecA+ ntand4 and

y=mtand + n secA, then what is

x2—y* equal to ?

(@) m?—n?

(b) m?+n?
() m? +n? —mn
(d) m?—n?+mn
57. If for some 6 lying between 0° and

90°, tan@= 1, then what is the value
of sin26 — 2sinf cosO?

(@) -1
() 0

© %
@ -3

A — NYRG-T-MTK
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2sin°@-sind noa ﬁl.qmmtrﬂwﬁarﬂ%%iﬁﬁm
o cosﬂ—ZcosSB’(O S 100111% mﬂq{mwm
R © 7 8cm®e | Broe o1 e T @ ?
(a) sin@ (a) 60 cm?
(b) cosB (b) 80 cm2
(c) tan@ (c) 100 cm?
(d) cotd X (d) 120 cm?
59.3f¢ 4, B 3R C @& fryw 4BC & 62. Y 99 WER arera: @y 9wy § | I
AR Hr 7, ar mwzﬂﬂﬂzsquarecm%lﬂ&
Gﬂ%ﬁﬁiiﬁ??ﬁ@9cmﬁ,a3ﬁ
[B+CJ .[B+c rEl & o fopaaT s R ?
tan + sin -
2 2 ) (a) 1cm
o D)-fd)  © iSe
2 2 (c)'2cm
AALA AR (@ )4 cm
(a 0
: & 63. AT W @9 X 1 &l p ® R 3@
®) 3 g(@ 7 X% faal W s o & SEwer g @ |
P
& [A+B+C ,6%& Gk
> @ 1
@ m[’”f ] ®) £
) 1
60. 7% st 4BC #, 5 fh B ) wwew @ 1
2

®, AB+BC=10(1++/3) cm § 3R =0

e 2| 9 o Pt Rt B o
5 48 cm®, N T GHAG F aRemT FT

() B 29
2 (a) 200 cm

o) T
V3 (b) 120 cm

(© V3. (c) 100 cm

d 243 (d) 90 cm

NYRG-T-MTK - A 16
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25in%0 —sin® 61. The radius of circum-circle of a right-

58. What is e (0°<6<90°) angled triangle is 10cm and the
= oo altitude drawn to the hypotenuse is
equal to? 8 cm. What is the area of the triangle ?
(a) sin@ (a) 60 cm?
(b) cos6 (b) 80 cm?
(c) tan@ (c) 100 cm?
(d) cot6 (d) 120 cm?
59, If 4, B and C are interior angles of a 62. Two circles touch externally. The sum
triangle ABC, then what is of their areas is 41z square cm. If the
distance between their centres is 9 cm,
tan[B"'C] +sin[3+c)- then what is difference between their
2 2 diameters ?
cot[-g] —-cos[g) (a) 1cm
equal to ? ARY
(c). 2.cm
@0 (d)" 4 cm
1
(b) 2 Q 63. Let p be the area of a square X and
K\Q q be the area of the square formed on
A+B+C B+C Q§ the diagonal of the square X. What is
(c) sin % P
the value of = ?
1
et A+B§§§ (a) 1
®) %
60. In a triangle ABC, right-angled at B, ) 1
3
AB+BC=10(144/3) cm and length
of the hypotenuse is 20 cm. What is the (d) %

value of tan4 +tanC? 4
64. The area of a rhombus is 336 square

4 cm. If the length of one of its diagonals
(@) 3 is 48 cm, then what is the perimeter of
the rhombus ?
2
(b) ﬁ (a) 200 cm
(b) 120 cm
(©) 3 (c) 100 cm
@ 243 (d) 90 cm
17 A — NYRG-T-MTK
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65.

66.

67.

68.

& gt #t fme fit g€ 21 cm el #
10-10 a.m 3R 10-30 a.m % <= # fime
G A TN F wE W oI aen
geel 71 € 7 (A g 7= 2)
(a) 231 cm?

(b) 331 cm?

(c) 462 cm?

(d) 492 cm?

TF R H TR 3R dRE e
2lm 3R 16m €| Rk =@ =R &
@l ST T Gl Sean B s
29mB, @ TR N F=E o & 2
(@) 10m

(b) 11 m
(c) 12m

(d 13m

18cm IaRes Brear am T
MATHR FER § HE g9 @ AL |
Wﬁ3cmmﬁﬂiﬁﬂl§ 4cm
Hafa I aqrelt et &
TR ST § | FR FA F e
&a%ﬁmﬁ%ﬁmmz?
(a) 54

(b) 81

(c) 108

) 135

TE gr@ar Med @ 7 g/em?® wed
a uig & &} | A wwh siaks
R sy B AY: 3 cm IR 6em E,
a1 =0 Gl 1 GIAH T € 7

(v iy 7= 22)

(@ 2772g

(b) 3322 ¢

(c) 4433 ¢

(d) 5544 g

NYRG-T-MTK - A

18

69. 16 cm F9T¢ 3R 14 cm =W a1 T

70.

Ths

72.

UG B TH AW F T A W
SEET AT R | W OWRR SR At
HATH T AT T R ?

(7 =22 +hfor)

(a) 1540 cm®

(b) 1078 cm?

(c) 1048 cm?

(d) 770 cm?

397 5@ & vds &1 sEeT 343 em?
IR R L e O
ROt =T T IS e T 7
(a) 343 cm? |

(b) 350 cm?

(c) 686 cm?

(d) 700 cm?

14 cm Y5 9190 U 99K 29 & IR
7cmﬁl~'ﬂ1ﬂTFlTQﬂi3TEﬁﬁaTTGT§3ﬂ
R W WER S wEh W Sy
8% F1 7 (W g 7= 2)
(a) 1330 cm? ,

(b) 1306 cm?

(c) 1296 cm?

(d) 1256 cm?

3-5cmmaﬂt4mﬁa§aﬁﬁ%ﬁ
9 & Rt B Ruemr s afe
2lcmx 1lcmx7cm AAW & Teh
T AR R S ? (7 WA = 2)
(a) 420
(b) 210
(c) 200
(@ 168
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65. The minute hand of a clock is 21 cm 69. A cone of height 16 cm and diameter

long. What is the area on the face of 14 cm is mounted on a hemisphere of
the clock described by the minute hand same diameter. What is the volume of
between 10-10a.m and 10-30 am ? the solid thus formed ? (take ﬂ=%)
take 77=2%

B a3 (a) 1540 cm?

(a) 231 cm? P

(b) 331 cm? ®) 5y

(c) 462 cm? (c) 1048 cm’

(d) 492 cm? (d) 770 cm®

66. The length and breadth of a room are
21m and 16 m respectively. If the
length of the longest rod that can be
placed in the room is 29 m, then what

70. 3 cubes each of volume 343 cm® are
joined end to end..What is the total
surface area of the resulting cuboid ?

is the height of the room ? (a) 343 cm?
(@ 10m (b) 350¢m?
(b) 11m (c) 686 cm?
(c) 12m 2
d) 700
@ 13m N g
67. A hemispherical bowl of internal 71. A cubical block of side 14 cm is sur-
radius 18 cm contains a li The mounted by a hemisphere of radius
liquid is filled in smal drical 7 cm. What is the total surface area of
bottles of internal 3 cm and the solid thus formed ? (take 7 =22)
internal height 4 t «is the
number of bottles@d to empty the (a) 1330 cm?
bowl ? S (b) 1306 cm?
(a) 54 2
1296
®) 81 (c) cn:rx2
()" 153 72. How many silver coins, 3-5cm in
68. A hollow spherical shell is made of a diameter and of thickness 4 mm, must
metal of density 7 g/cm?. If its internal be melted to form a cuboid of dimen-
and external radii are 3 cm and 6 cm sions 21cmx 11cm x 7 cm ?
respectively, then what is the mass of (take 7 = 22)
7
the shell ? (take 7 =2%)
(a) 420
(@) 2772¢g o
(b) 3322¢g ®)
(c) 4433 g () 200
(d) 5544 ¢ (d) 168
19 A — NYRG-T-MTK
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73.

74.

75,

NYRG-T-MTK -

TF T H IFR & g & foue
(weew) Ser R | W e & [ T
Rt & Broar 105 cm 3R 42 em €
AR @ H FE@ER I 16om R,
& gadht forde Srad @ 2

(a) 63-5cm

(b) 65cm

(¢) 73:5cm

(d 75cm

ABC @& 5t S B R wwahv € 3k
et AB=8cm3RBC=6cm¥ | =
TaEl S BC W YHET ST R | W
VR q7 AT U 1 ol T 8el
et o @ 2 (W ifog 7 = 2)
(a) 452 cm?
(b) 440 cm?
(c) 432 cm?
(d) 420 cm?

N

Q

T 31 B 20 cm 3 @5\\7

T A0 ¢ | mcmm
aﬂtzsmﬁm@q@naﬂmw
? | 3 1 v i B W WR 10000 kg
®, O O & goHEE W8 ?

(7 #fiforg =22

(a) 34-65kg

(b) 31-56kg

(c) 3-465kg

(d) 3-156kg

AW W AT A (03) Weie ¥ o
frafoafea w fmr fifvw

T T x Brear sk 20 39 W uw
wE O AF R W x B ¥ ww
el R G (7 g 7= 2)

A

20

76.

77.

78.

A

AT F A ford wE ® 2

(a) xTr=am 9@ M & smEaT F SR

(b) x=E A M & AT & TS

() x P o d99 F s ¥
e

@) V2x Brom T I9 F I F
TR

TAH W FA UDT AAFA AT

fram g 2

(a) 112x2

(b) 12:5x2

(c) 133x2

(d) 1512

36 ARG I A R W T T =

FAFER AT & AT I YhR @ foran

STt © & 98 999 ¥ a9 = @yt e

%Iqﬁaﬂﬁﬁmmxﬁ'{

FAR 3x ®, A oA A A5 gET

AT T fepamr @ 2

(a) 5043

(b) 5093

(c) 5143

(d) 524x°

AW AW AT A (02) WeiN F fom
ﬁﬁ%‘ﬁiﬂﬂﬁ?ﬁ'ﬁﬁﬁ'q

2-1 cm Prean & u g9 & ffar, 39 %
FF W 120° H F0T FART T T |
(s i 2= 2 3R 3 =1732 ®)
I & WY TS H AAGA TR T
(a) 271 cm?

(b) 2-42 cm?

(c) 191 cm?

(d) 1-71 cm?
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73. A tub is in the shape of a frustum of

74

75.

a cone. The radii of two circular ends
of the tub are 105 cm and 42 cm. If
the vertical height of the tub is 16 cm,
what is its slant height ?

(@) 63-5cm

(b) 65cm

(c) 73:5cm

(d 75cm

. ABC is a triangle right-angled at B with
AB=8cm and BC =6 cm. It is made
to revolve about its side BC. What is
the approximate total surface area of

the cone so formed ? (take 7 = 2%)

(a) 452 cm?
(b) 440 cm?
(c) 432 cm?
(d) 420 cm?
$
A solid rod consists of a der of
height 20 cm and radi cm. It is

surmounted by anm:§il lid cylinder
of height 10 cm ius 3-5 cm. If
1 cubic metre ot%d weighs 10000 kg,
what is the mass of the red ?

(take 7 =2%)
(a) 34-65kg
() 31-56kg
(c) 3-465kg
@ 3-156 kg

Consider the following for the next
three (03) items that follow :

A solid consisting of a right circular
cone of radius x and height 2x standing
on a hemisphere of radius x (take

n=2%)

21

76. The volume of the solid is equal to that

of a

(a) sphere of radius x

(b) sphere of diameter x
(c) cylinder of radius x
(d) cylinder of radius V2 x

77. What is the approximate total surface

area of the solid ?
(a) 11-2x2
(b) 12:5x2
(c) 13:3x2
(d) 1512

78. The solid is placed upright in a right

circular cylinder full of water such that
it touches the bottom. If the internal
radius of cylinder is x and height is 3x,
what is the approximate volume of
water left in the cylinder ?

(a) 504x°

(b) 509x°

(c) 514x°

(d) 524x°

Consider the following for the next
two (02) items that follow :

A chord of a circle of radius 2-1 cm
subtends an angle of 120° at the centre.

(take 7 =2 and /3 =1732)

. What is the approximate area of minor

segment of the circle ?
(@) 271 cm?
(b) 2-42 cm?
(c) 191 cm?
(d) 1-71 cm?

A — NYRG-T-MTK
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80. 3T & Y G F FAGA T fohaA
t?
(a) 10-05 cm?
(b) 10-15 cm?
(c) 11-05 cm?
- (d) 11:15cm?

AW AW 91 AT (03) wewie F foro
frafafaa w fmm fifto .
ABC & P ® @ 4B=6cm,
BC=10cm 3R C4=8cm ® | sid
ABIRCH TR AT gw =
YER G 91 § & wde 99 s
;e war § |

81. gait Hit Proarsit 1 dvrea T § 7
(a) 10-4cm
(b) 11-2cm
(c) 12cm
(d) 13cm

82.9f 4 & BC | @™ U £
Qﬁmﬂmw%?\@

(a) 2-4cm §
(b) 3cm f§’
(c) 4cm $&Q

(d) 4-8cm @

83.af Bw & iR 4, B ok ¢ W w3

& SF%d WA P, Q IR R B, @

frafafeg & & - /a9 @&
/%7

1. P=7cm

2. 90 +4R = 361 cm?

A9 i M0 e 1 W@ W @ TR
g

(a) o<

(b) a2

() 13k 23t

d) AR 1,782

2

NYRG-T-MTK - A

84.

85.

86.

87.

IR I A F (02) wEiwt F g
ﬁlﬂﬁ-lﬁi‘d‘iﬂﬁﬂﬁw:

ABC U= B § fomdt 4B=AC® 3K
D, BCWR & %t fog 8

fraffm A @ sR-madt & 2

(a) AB?-AD? = ADxBD

(b) AC?-AD? =BDxCD

(c) AB*-AD*=2A4DxBD

(d) AC?-AD? =2BDxCD

af§¢ AD=5cm, BD=4cm 3R CD=
6 cm ® T AB fres sqa @ ?

(a) 7em

(b) 6-5cm

(c) 6cm

(d 55cm

JR FW A AT (03) WIS % forw
frmfafes w fmr v .

ABC T ﬁfﬂﬁ % ot AB=1-6 cm,
BC=63cm 3R CA=65cm & | 99
#ifg P sk O wWW: 4B 3R BC &
weg-fag € |

AB? + 4BQ? T sUeR ® ?

(a) 41-25 cm?

(b) 4225 cm?

(c) 43-75 cm?

(d) 44-25 cm?

AQ? + CP2 foras s ® ?
(a) AC?

(b) 12 AC?

(c) 125 AC?

(d) 15 AC?
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80. What is the approximate area of major

81.

82

.

segment of the circle ?
(a) 10-05 cm?
(b) 10-15 cm?
(c) 1105 cm?
(d) 11-15 cm?

Consider the following for the next
three (03) items that follow :

ABC is a triangle with sides 4B = 6 cm,
BC =10 cm and CA4 = 8 cm. With verti-
ces A, B and C as centres, three circles
are drawn each touching the other two
externally.

What is the sum of the radii of the
circles ?

(a) 10-4cm
(b) 11-:2cm
(¢) 12cm
(d) 13 cm

What is the length of the altit{&%f the
triangle drawn from v @ on BC?

(a) 2-4cm Q>
N
3 N\
(b) 3cm Q@
(c) 4cm
(d) 48 cm.
. If P, O and R are the areas of sectors at

A, B and C within the triangle respec-
tively, then which of the following
is/are correct ?

1. P=rmcm?
2. 90 + 4R = 367 cm?

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

Consider the following for the next
two (02) items that follow :

ABC is triangle in which 4B = AC and
D is any point on BC.

84. Which one of the following is correct ?
(a) AB*- AD? = ADXBD
(b) AC? - AD? =BDxCD
(c) AB?—AD? =24DxBD
(d) AC*-AD? =2BDxCD

85.If AD=5cm, BD=4¢em and CD=
6 cm, then what is AB equal to ?
(a) 7cm
(b) 6:5cm
(c) 6cm
(d) 55cm
Consider the following for the next
three (03) items that follow :
ABC is a triangle with 4B=1-6 cm,
BC=63cm and CA=6-5cm. Let P
and Q be the mid-points of 4B and BC
respectively.

86. What is 4B + 4BQ? equal to ?
(a) 41-25 cm?
(b) 4225 cm?
(c) 43-75 cm?
(d) 44-25 cm?

87. What is 402 + CP2 equal to ?
(a) 4C?
(b) 12 AC?
(c) 1-25 AC?
(d) 1-5 4C?

23 A — NYRG-T-MTK
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89.

90.

4(CP2 - AQ?) forersh sReR & 2

(a) 101-39 cm?

(b) 111-39 cm?

(c) 121-39 cm?

(d) 131-39 cm?

AW AW AT F@ (02) WIS &
Frafofea = fer Hiftc .

ABTE 99 %1 = ®, P dg 0R |
Brsan OP, AB R wwa ® | 5 +fifr @

MY PBR & fag # |

ZBAP forae SRR § 7

(@) 30°

(b) 40°

(c) 45°

(d) 60°

ZAQP forass stsr © ?

(a) 30°

(b) 40°

(c) 45° g@&

(d) 60° &

ot ot a@@ weiait ¥ g
frafafee wofer fifw ;

frifera gar@ uw @t #F ad 2019
3R 2020 # fafdm 3Pt (4, B, C, D,
E 3R F) & sd=iiat & wfasraar <
qufa € | =it g g 2019
# 4000 3 2020 % 5000 = |

So20

20 19 2020
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92.

93.

94.

. a4 20197 Fwieiat 6 9 Afvmr v €

ot sttt i gor d@ar 2020 % o
T @ A A - € 2

(a) CIR B
(b) E3R 4
(c) EFRF
(d C3RD
frafafen wdifEt. &t afmt §
¥ et 2019 & @ #2020 #,

FHaTal i werr # wfiwa aRadq
Frf¥repast ot ?

(@ 4

(b) B

(c) C

(d D

2019 & gaar H 2020 H, AH-E
FTiat it wlawa gfyg fadt o 2
(a) 20%

(b) 25%

() 30%

(d) 40%

FHaRal # q Afr W ¥ e

wean ¥ wfava 3fg 2020 3 Ht v wwH
WA AfvEr Sa-d § 2

(a) E3RF
(b) CHFRE
(c) ASRE
@ 43RC
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88. What is 4(CP2 - 40?) equal to? 91. There are two categories of employees
(a) 101-39 cm? in 2019 whose total strength remained
(b) 11139 cm? the same in 2020. What are these two

categories ?
(c) 121-39 cm?

C and B
(d) 13139 cm? i dei
(b) E and 4
+ Consider the following for the next
two (02) items that follow : (c) Eand F
AB is a diameter of a circle with centre (d Cand D
O. Radius OP is perpendicular to AB.
Let Q be any point on arc PB. 92. In which one of the following cate-
gories of employees, the percentage
89. What is ZBAP equal to ? change in number of employees in
() 30° 2020 was maximum as compared to
2019 ?
(b) 40° 019
(C) 45° (a) A
(d) 60° (b) B
90. What is ZAQP equal to ? (e C
(a) 30° (d D
40° \Q®
() < ,
(c) 45° §Q§ 93. What was the percentage increase
) Q%' of category-E employees in 2020 as
(d) 60 N\ compared to that in 2019 ?
Consider the fol@'ing for the next (a) 20%
JSour (04) i.tems .that follow : () 25%
The following Pie-Charts show the per-
centage of different categories (4, B, C, (©) 30%
D, E and F) of employees in a company (d) 40%
in the year 2019 and 2020. The total
““??g’oé’f_ergggyees was 4000 in 2019 94. There are two categories of employees
an in A

whose strength increased by same

F 4 E A percentage in 2020. What are the two
categories ?
— % |B w B (@) Eand F
E C
D = (c) Aand E

201 2020 (d) 4andC
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AR AW T R (04) Wi F forw
frafafes = fmr $ifso .
frrifra sera firer auf & &= R
Fufai X, Y 3R Z g1 o 0 &Rt &
JqTeT & qufar © :

— Ox Y Bz .
B Aok
o — =
O 600 =Nul= =
. = A |
e 72 | e | B
5 w0 = A | B
- = | | 7B
g = A |2
Z 1001 ?E g; E

0 = = =
2014 2015 2016 2017 2018
YEARS —m—>
95. 2014 & 2018 TF FRI & Fof IouGA A
wiftrera afy Rt o 2 \\Q®
(@) 50% &§
(b) 100% Q\Q(b"
() 150% §§
(d) 200%

96. AT FIAI F IUET R FT q =R

#iforg | geadt ad & Saare 6 gern
#, frat IR *R & Saren # wfava
afg 20% & aftres ot 2

(@ 5
() 6
© 7
(d) 8

97. ﬁa?ﬁaﬁ%aﬂm?ﬁgamﬁ FRIE F
?ﬁ # wivwa 3fg e af & mam
?
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(@ 2015
(b) 2016
(c) 2017

() 2018

98.

99.

100.

wHadt af F I o g ¥, IR
e ¥ wiwa afy fFdft o ad §
T ot | g8 gead whsear 4T 4 ?

@ 111%
(b) 113%
© 131%
(d) 20%

W A 9T J (02) WeAiA & fog
Frafafea w faer it

P 3R O &1 GHIGR AT 941 § 7

(a) 0

®) 1

() 2

(d) 9ate g (3a1) & wror fuffa
& TR s we
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NUMBER OF CARS PRODUCED ——>

Consider the following for the next
JSour (04) items that follow :

The following Bar-Chart gives the pro-
duction of cars by three different com-
panies X, Y and Z in different years :

-

al x Y == s -

700 o E

600 =l E 5

500 = § /z /i

5 (LB |3 |

400 ] 1 = = %: //,:

= = Y= 7=

300 A = ‘4: /=

-’/’: — 7= f”:

Y= - /: =

200 4= H | v | B

7= = |3 | B

. 2 |3 | | e

| %= 2=HR7=

V2014 2015 2016 2017 2018
YEARS —>

95. The percentage increase in the total

production of cars from 2014

t&ZOlS

was Q
N

(a) 50% &6\

(b) 100% Q\Q%'

(©) 150% @$

@ 200%

96. Consider the production of each

company separately. In how many
instances was the percentage increase
in production of cars over the previous
year’s production greater than 20% ?

(@ 5
(®) 6
() 7
(d 8

97. In which year was the percentage in-

crease in production of cars minimum
as compared to its previous year ?

Download all NOTES and PAPERS at StudentSuvidha.com
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(a) 2015
(b) 2016
(c) 2017
(d) 2018

98. In one of the years the percentage

100.

increase in production of cars was
minimum as compared to its previous
year. What was the minimum percen-
tage ?

@ 111%
(b) 113%
(©) 131%
(d). 20%

Consider the following for the next
two (02) items that follow :

Collect all the sequences of five
consecutive integers such that their
product is equal to one of these integers.
Let X be the collection of all possible
such sequences. Let P be the smallest
integer and Q be the largest integer
occurring in these sequences.

. How many such sequences of five

consecutive integers are possible ?

(a) One

(b) Two

(c) Three

(d) Five

What is the arithmetic mean of P

and Q?

(@ 0

(b) 1

(© 2

(d) Cannot be determined due to in-
sufficient data
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SPACE FOR ROUGH WORK
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SPACE FOR ROUGH WORK
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
T.B.C. : NYRG-T-MTK Test Booklet Series

TEST BOOKLET

ELEMENTARY MATHEMATICS

Time Allowed : Two Hours Maximum Marks : 100

INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST
BOOKLET.

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and
Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the
Answer Sheet liable for rejection.

3. You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.
DO NOT write anything else on the Test Booklet.

4.  This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and English.
Each item comprises four (answers). You will select the response which you want to
mark on the Answer Sheet. Isﬁ?e you feel that there is more than one correct response, mark the
response which you consi e best. In any case, choose ONLY ONE response for each item.

5. You have to mark all y ponses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet\O

6. Al items carry ;

7. Before you p to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

8.  After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to take
away with you the Test Booklet.

9. Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong Answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which
a wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if one
of the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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